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Instru ! | '
ctions : (1) Figures to the rght side indicate marks of that question.

(2)  Use of simple calculator is allowed.

»

Lo () Explain the meaning of maximum and minimum values of a te the

conditions for that.

OR
Fxplain the following terms :

(1) ﬁmund Order Derivative

() fotal Revenue

(1) Marg: 1 Cost g
(iv) Elasticity of Demand

e by. 4

(b) Ify=3e'+2¢*, thenp

4

ity isx =12 + 3p - pz. Find the elasticity of demand
when price pe its and state its meaning.

d minimum values of the function f{x) = 2x" + 3x* - 36x+30. 6
OR
ction of a monopolist is x = 50 — 5p and total cost function is

0. How many units should be produced to get maximum profit ? Also

um profit.

ive the definition of Integration and state how the total cost function and total
revenue function is obtained with the help of it. 4
OR

What is Definite Integration ? State any four properties of it.
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(b) If the marginal cost function (MC) = 75 * 50x + 54 and fized cost 1s T 150, then
find the total cost function and average cost function 4

OR
f
Find the value of J’ Tlir-vdr
6 x+4yx
0

(c) Integrate the following functions 6

(1) j(lr— 5) (2% + 3)dx
OR

Evaluate the following :

4
(i) I (3x? — x + 5)dx
|
|
(i) Jx-(l - x) dx
0

3. (a) What is slope of a straight line ? State the conditions for two straight lines to be

(1) parallel and (ii) perpendicular to each other. 4
OR
Obtain the equation(of a straight line passing through two points (x,, y,) and
('xz: YZ)
2 .
(b) Obtain the equation of a line with slope - % and passing through the point of
intersection of the lines 2x -y - 13=0and x- 2y - 11 = 0. 4
OR

A line passes through the point (3, 7) and 1t makes intercepts on both axes equal in
magnitude but opposite in signs. Then obtain its equation.
total expenditure y of a hostel is partly constant and partly varies as the
® ::;bar of stE:lnenta x. When there are 70 students, the expenditure i1s ¥ 9,900 and
when there are 100 students, the expenditure is T 13,500. 6

Find : (i) the linear relationship between x and y.
(i) the constant expenditure of the hostel.
(iii) the expenditure of the hostel, when there are 50 students.
OR
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4. (a)
(b)
(c)
5. (a)
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(1)  Obtain the slope and the intercepts on both axes of the line joining two points
(-3, 5) and (7, -9),

(i1) If the line joining (k, 11) and (1, k + 4) is parallel to the line joining (0, -2)
and (k, 4), then find the value of k.

State the definition of arithmetic progression with illustration. Also write the

formula to find its " term and sum of its first n terms. 4
OR

Define the Arithmetic Mean and the Geometric Mean and state their formulae.

Find the sum of numbers between 100 and 400 exactly divisible by 11. 4
OR

Find five numbers in geometric progression whose product is 243 and the product
of the last two numbers is 72.

(i) Find the 21* term and the sum of first 21 terms/©f the series 21, 25, 29, 33,

6
(ii) Find the 10" term and the sum of first 10.4erms of the series 5, 10, 20, 40, .....
OR |
(i) The Arithmetic mean and the Geomefric mean of two positive numbers are
25 and 7 respectively, then find these numbers.
(11) The 26™ term of an arithmetic progression is 153, then find the sum of its first
51 terms.
Answer the following questions in short : 8
(1) Whatis monopoly ?
(2) Statethe demand law.
(3) Find the value of Jc“* >.dx
5
(4) Find the value of J- 7-dx
2
(5) State the value of intercept on 'y axis of the line 5x + 2y =0.
(6) Isapoint(B.Z)isontheline2x+3y=12?
(7 Give the definition of Geometric progression.
* th ies 21, 19, 17, ....
(8) Find the 11™ term of the series o
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(b) Answer the following by selecting an appropriate alternative : 6
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(1) The relationship between marginal revenue, average revenue and elasticity of

demand 1s _
AR - MR MR - AR
@ n=""2R ® =" MR
AR MR
(c) M= AR - MR (d) M=MR - AR '
(2) Ify=logx3.thcn:x1= _— \
3 3
(@ % ® -2
3
© 3 @) 6 ‘
3
(3) J-.r-dx= ;
3
(a) 3 (b
(c) O
(4) The equation of a line parallel tadi of 4 units from origin is
(a) x=4 ' ) y=4
) x+y=4 (d) x-y=4
(5) The slope ine 3y-7=0is
7
® 3 ® -3
5

(b) 96

sixth term of the series 3, 6, 12, ..... 18
24
48 d) 192
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